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Solve the problems.
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9 plus 5 is 14.

9+5=_14
That one’s easy.
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19 plus 5is
just 10 more.
That's 24.

19+ 5= 24

LDoOOO

Joooo

YO 29H5=_34

29 plijs 5is 10
mote dgain,
That's 34.

Use the first number sentence in each set to help you solve the other problemms,

a. 3+8=_11
h. 13+8=_ 21
c. 23+8=_31

Solve the problems. Show the 1-digit addition sentence that helped you solve.

i8+4=_22%

Lesson 15:

B4+4=12

g | can use B4 410 help me solve
18 4. | know that 8+ 4 = 12.

\ 18 + 4 has 1 more ten. That's 22,

Use single-digit sums ta suppart solutions for analogous sums 040,
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